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~Time : 3 hours
3

Full Marks : 70

Candidates are required to give thelr answers in
their own words as far as pract/cable

The figures in the ma.rgm indicate full marks.
Answer from all thé Parts as directed. -

(Principles and Practice of Management)

_ Part—A
j & Select the correct answer from the glven
alternatives : e 2><10 20
(2) Management is :
(i) AnArt

(ii) A Science
_Aifl) Artand Science both

(iv) None ofthese
(b) Managementis the development of :

(i) People (1. hings
(iii) Business . (iv) Industry
K — 28/3 (Turn over)




() \(/:\::::c of ‘the following s not
. al Approach Manageme R
() Scientific Management 2
(ih) AdministrativeManagem '
) Decision Theory E:

: {iv) Bureaucratig Organisation
(@) The most important sk

il WA |
Management s : N of top leve|- |

() Technical i

(i) Human ski

4 Conceptual siij

(V) None ofthese
(€) Planning s for

i P

ehing i) Present
i) Future

(iv) AHofthe.sev- |

tor |

~—€!)/Top management

(i) Middle Management

(iii) Bottom Management
(iv) Allof these

IK-28/3
(2) -
ontd,

i task of
(9) Decision making 1S the ——
mana‘gement.
My~ Primary i)y Secondary
(iil) Tertiary (v) Noneof these

() Controlis 8 ——— managerial function..

() Compulsory Lt~ Necessary

(iii) Optional (v) Noneofthese
() Theminimum parties to communication are: -
() One iy~ Two
(iii) Three (iv) Four

() Which of the following is not one a step of
the decision making process ?

I(i) Déﬁn_e Problem
iy "Analyse Situation
- (ii) !dentify Altem_atives
(iv) 'mplementany Altematives
| Part—B
.Answer any four questions of the following :
' 5x4 =20
-\Af Explain the classical theory of management.

IK—28/3 (3) (Tum over)



3. Whatisthe importance of decision maklng inthe
management ?

w47 Discuss the various elements in planning.
8" Explain the process of demsnon-makmg

&7 Explam the meanmg of communication.
Part-C

Answer any three questions of the following :

10x3=30.
A Cnhcally examine the contribution of Henry Fayol
in the field of management
\/B/ Explam the. principle barners to management
cammunication and suggest measures for that
removal.

/What do you understand by controllmg in

management ? Discuss the vanous steps in the
process of control.

10. Write an essay on the contribution of Fayol inthe
field of management.

IK - 28/3 (150) MB — 101 (N)
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re required to give their answers sin

their own wonds asfaras pract:cab!e

d.
Answerfrom allthe Parts as directe

Part-A

swer from the given

; ect an
Select the corf 2x10 =20

: altematwes
() Who was assoc

Experiment ?

iated with the Hawthorne

® ‘Elton Mayo

. Qi). ‘George A. Pennock
iii) F. J.-Rpeth\isberg?.
("N) F.W. Taylor :

W T R S Tuimover)



(b) The most important skill o

f middle .
Management js : ' )

(@ Technical skiy

(ii) Human skill
(i) Conceptuyal skill
(iv) None of these

() The decision making step, which consists 01“f

organization goals, Predicting alternativeg
and Communicating goals js called :

() Organization
(i) Alternation
(ifi) Planning

@iv) \/aluing

- (d) Authority and responsibility are ;‘to 1

each other ? ; SRe i’
() Supplementary i !
(i) Complementary .
(i) Contradictory - -
(iv) Allof these

RW-27/3 (2) Con)

o o
(e) Which of the following i; not a single US
plan ?
() Budget
(ii) Programme
(jil) Method
(iv) Al of these
@ The Informal Grou
system is called
® Group dynamics
(i) Exchange
(ii) Interaction

p's Communication

(iv) Grapevine
(@ Which of the following is nota principle by

Henry Fayol ?° -
(i) Div_isiopuof work
(i) Discipline
(iii) Haﬁnony not discord
(iv). Unity of Command

_ (h) Concentration of authority at one lgvel is

- called: P 5

@) Decentralization

RW- 27/3 ‘ (3) (Tumover)



(i) Delegation {* | s
. both a science and a art.” Do
(iii) Accountability e “Management is. 0
: . you agree ? Elucidate.
(iv) Centralization _ = _
. . J . l4. What do you mean by Decision Making ?
() Controlling functions finds out how far | Explain the steps of decision niaking process.
deviates from stand i .
ilisiangprds: 5. Distinguish between Formal and Informal

-

sy Actual performah'ce_ ‘ ' Organizations.

ii) Improv "Rl € ' icati
(i) Impro ement 6. Briefly, explain the barriers in Communication.

-

A
3 p i
(m) Correctwe acuons e i
i B § Part-C
(iv) Cost i .
s 0 20 1 e i Answer any three questions of the following :
() Taylor, recommends‘ 1
i 10x3 = 30
()) Functicpal orga@satnon TR 2 = ' :
-, I\y/ Define Controliing. Write a.note on importance

of contmllmg ?

\B,/ Define the term delegatnon of authority and state
its characteristics. Also, briefly describe the

benefits of delegation.

(u) Liner orgamsahon

T L

(m) Military organlsatlon ;
(iv) Matrix orga_ms?t_lgq_.; ,_ ;-_? =% T

Part-B | HE,
- \g,/‘ Explain the fourteen principles propounded by

- Henry Fayol in his administrative managerient.

Answer any four queshons of the followmg |
= 5x4 20 ; ‘
= \,:l'ﬁ. Describe the process of planning in detail.

K/
0.0

2. “Briefly, explain the neo-classical.theory of

management. ‘ . |
Contd | RW-27/3(150) (5) MB—101 (New)
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Time : 3 hours
Full Marks : 70
Sandidates are required to give their answers in

Answrer from all the Parts as directed.

’ Part-—_A _
Select the correct answer from the given
alternatives: 2210 =20

(2) Which of the following is not a part of
classical approach management ?

(1) Scientific Management

(i) Administrative Management
(iii) Decision Theory
(iv) Bureaucratic Organization

(b) The first step in control process is o :

. (i) Measure actual performance

— NI r >,
~ E RN g 2 AT A2 A A GRS e K L U S At Rt o Rl e S
DT —— L SN A S L VWT Al O e T Tl Pe AL L ..,"’ ot Cnglind: e % T
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(illi) ERG theory
(iv) Contingency theory
() Taylor recommends :

(i) Line organisatioﬁ

(i) Functional organisation
(ili) Military organisation -
(iv) None of these

() The overall goal of Scientific Managementis :
(i) High Industrial efficiency

(i) Maximisation of employment
(if)y Maximization of social welfare
" (i) Allofthese e
) Coimhunicatio_n in an organisation ﬂows
from:
. (i) From top to bottom
| (i) From bottom to top -
(i) Both () and (i)
. (iv) None of these
(i) Which of the foIloWing is not related {0
‘staffing ? '

(i) Human rescurce planning

ER-353" (3) » .( Turn over)




(i) Managerial appraisal
- (ili) Decision making
(iV) Job deﬂ'nition'

@ The most lmportant sknll of top level
management is: |

(\) Techntcal skm
(n) Human skﬂl

(m) Conceptual Skl“

(N) None of these

Part B

Answer any four questlons of the followmg $he.
5><4 20
20 Wnte a short note on the Skll\S of a manages |

3 1Is manag_eme_nt an Art or Scien'ce'? Explain. ~

4. Explainthe c\assrcal theory of Management

5 What s the lmportance of demsmn makinginthe " -

management ?

6. Discuss the various etements in plannlng.- |

ER-35/3 - (4) * Contd.




Part-C
Answer any thiee quéstions of the following .
| 10%3 = 30

7 Desciibe, in det"a\\ the dlfferent roles of New
Millenium Manages

8. Explain the pnncxpal Bairiérs o manag‘emen‘t
commumcat\on and suggest measures for that
| remova\

A A N e e g e o B T b R AT e AN e e S

9 What do you undefstand by controllmg in
| management ? DlSCUSS the vanbus steps in the
process of control.

- 40. Write an essay on the contribution of Fayol in the
- field of management. |

-

. &, .
- %t
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E Time : 3 hours
Full Marks : 70
Candidates are required to give their answers in
theirown words as far as practicable.
; The questions are of equal value.
,': .
' Answer apy five questions. @

»\/ Explain the concep; of management with its |

nature a'\d scope.

2. Discuss the contribution made by F. W. Taylorin

the field of management.

\3// ‘What do.yoﬁ mean by planning ? Also discuss
the steps of planning process. '

4. Discuss the meaning and importance of MBO.

5. What do you mean by Span of Management ?
Also discuss the factors influencing span of

ég management.
PO—16/1 (Turn over)
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{a v tw L
\@) Virtual Organ;s 2 © Ofthe following -
¥ n : .I

B} Motivation »
(d) Strategi yEXCgptiQn' |
alegies and Policies

Pomm—
. ¢
"‘ ——
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Time : 3 hours
) . Full Marks : 70

quired to give
rds as far as

'Candidates arere their answers in
their-own WO practicable. ,

questions are of eqqal value.

The
,&\ns’Wer any five ques'tionsf':

ment Concept & Practices)
jectives and significa

(M’anagé
nce of

1.. Explain ;hé ob

manageme‘nt'.
o f;:riﬁca\\y examine the coﬁtdb:,luﬁon of Henry Fayol
inthe field of management. L '
pointout .

3. Discussthe significance of piann‘mg and
its limitations. £
4 \What is-decision making ?_Exp\a‘m its pro'cess‘ -
and importance.
5. Define Organ‘téaﬂon and explain its objectives

and importance.
(Turn over)
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6. Di
Wtscuss the process ofd
hatare jts principles ?

. W
t amn Chalacte“stlcs O’ d I I ;
; ‘)atale he“) | ecllO

Di o %
Iscuss its importance

8. What IS meat )t by ,eadels' Hp ? Expla"l ”]e natt Ire
\
al ld lmporfance 01 Ieadelsl ”p I

. ; Ve
t ema ane I
i i ‘I ‘Cont O’
/ y A- ] S i
()” nC )163 onan tWO 01 tl e 10”0\“/ “g x

b enti
(b) Mar’lagement isanArt as well as Scienc
B » €

,-(C) Decentralisation
f(d) Autocratic leadership L
. ‘i "

|
| G

3%

QW —1/1(100) (2) 5 : MB'——101

elegation of authority.
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The figures 1 t

Answer fmm 2 i
erial Ecbnomics) -

part—A
(Objectiva Type Questions)
cose the correct @

(Manag

1. Ch

alternatives :
(a) When thereis changein quantity demandes
ge in price, 1S a

in response to any chan

situation of :
(i) Zefo price elasticity
(i) Infinite price elasticity
_(ifi) Unitary price elasticity
(iv) Perfectly price elasticity
(b) Which of the following is an
\ndifference Curve Analysis 7
(i) Monotonic_preference's of the consurmer

assumption of

IK—29/3 (Thm over)



he folloy/ing is fﬁndamental
e Nagerig| Economics ?
NCrementy; Principle

(i) Marginal_p_rinciple
('iii) Opportunity Cost principle
(iv) Al ofthese
(e) Delphi method is useq for:
() Judge mental forecast
(i) Time series forecast
(iii) Associative model
(iv) Noneofthese
() The function of Managerial Economist is -
() Forward Planning
(i) Decision making
(i) Both (i) and (ii)
. () None of these

IK-29/3 (2)

g

serrsm e

iiesis: -
) Elasticity of demand for necessmes. .
(i) - Zero -
(i) Unlimited
(i) Greater from unity
(iv) Less than unity
Which of the following €0S

(9

t curve is U- ’
) Y

Shaped ? @ TC
0.4 iv) TFC
(iii) AFC () e
() Dynamictheory of profitwas propoun y:
() Clark - (i) Schumpeter
(iif) Knight " (iv) Noneofthem
() Which of the following is not upder GST in‘
India ? _
(i) Industrial Product
(i) Handicrafts
(iii) Gems and Jewelleries
(iv) Petroleum Product
Part-B
(Short-answer Type Questions)
Answer any four questions of the following :
5x4 =20
2. Differential between Micro and Macro
~ Ecoriomics. :
IK-29/3 (3) (Tum over)



Discygs abo T
utSh ; |
4. Write the gify, Ot Period Cost — _102
: e
forecy sting, rent techn iques : opYRIGHT R
S Explain py; : S of demapg |- 021
- YWhteanote 4
Onthe; : e:ahours
Issues involveq in Priva Time .
(Long-an Part_¢ _hsatlon Ful Marks 7
T ' wers in
Ype Questions) .. didates ar® required t0 give their ans
cant *lmeir own words as far @ practicable
full marks.

\nNSwer g
- ny three
Questj
tions of the _following :
e margin indicate

7. D :
- efin 3 .
X ® Manageria| g, ) 10x3=3¢ - _ )
importance of Manager.. r o> EXPlain th . fhefiguresinth
r ageria L e L : s as di d.
r Process of decisjon makingl Economics in the . Answerfrom all the Parts @S directe
. Mat is m . . 5 = b
e law of vari - part—A
stages of producti riable proportions 7 pjsc ot
uction. 'ISCUss (Ob. tive Type Quesﬁons)

9. Explain diff s - (Objec

: n different typ, , - o D i

. types of Elasticity of Demand, ~ | ' 1. Choose the correct answer from the given

| - alternatives : " 2x10=20

How is pri =
price elasticity of demand measured ?
| (@) Nomally a dermand curve is

10. Exami iti
-=Xamine critically the law of variable proportions
g ' (ij Upwafd sloping

asa short-run production function.
.(iy Downward sloping
~(iii) Horizontal

(iv) Vertical

R/
0.0

K- : - ol
2 i MB-- 102 (08 RW=-atia (Turn over)



of
(ill) Tastes N Other googg

(iv) Allof these
{c) Under\_
K
' Price s determine'd by th

interacti r
: Ction of tota) demand 5
In the market. o o

its

3

() Perfect competition e
{ii) Monopoly | £
. . .i
(iii) Imperfect competition '5
. :H
(iv) Alicfthese ”
{d) Dymanic theory of profit was propoundeq by: &

(i) Clark ' : |
(i) Schumpeter el
(iii) Knight

{iv) None of them

T,

{e) The slope of the indifference curve s equl ||

to which of the following :
(i) One ' A
g corid. |
(2) g

o

RW - 28/3

T R e——

_urve covex 10 e
1 M | ‘

ubstitution - s
rate of ¢ inal utility

(i Dueto |awof diminishind marg
(i) Dueto monotonic preferences:
(v) Allof these ol
(@) The third stage gf capital forrﬂahon.ns _'
0) Creation of savings ‘
(ii) Mobilization of savings
(i) Distribution of savings
\:(i\_l) |nves_trnent of savings
") P}pﬂt is also known as
(® Cé_ntradual Rent-
(ii) ReSidua\ Income
-(iii) NetIncome
(i) Noneofthese.

RW=28/3 " (3) (Tum over



{) When a fim's average reqy,
e

its ave - Nue js e be cardinal and ordinal ulility.
2rage cost, it gets ) S CUgy 5 Diﬂeren“‘a‘e petween ’ ]

() Sub normal profit - 1, ynatarethe properties of indifference curves-
(i) Normal profit g/ W

ounting profit and Economic Profit the:

' y |s ACC .
same 7 Explain with ‘examp\es.

(ii) Abnommal profi

L P What.is the Publié-Piiva{e Partnership (PPP)' '

model 7 Willit be successful in India ?

=)
=
=2
P o
9
[(a]
2
=
2
J b
=
(]
3
o
J o)
. @
T
<.
: .
._ (o))

. : pari——G.
, and : -4 Undis : T
ot 2 benam; Properties » : Closed} . (Long-answef Type;Questlons) .
; €serve Bank of India e Answer any-three questions of the following = . ~
i ‘ o : w12 %3 =
- . Enforcemen Directorate o ; ‘ 10x3 =130
- (iii) Ce T - | : P e
; -entral Board of pyeq Taxes - ol F " \Wht do you uriderstand bY Marginal Economics *
- (iv) ‘Ne “hect s : X i
) None of thege it ‘ Discuss its importance in the present day. i
s Pa&—B , e - . IS What is meant by Taste and Rr,gférences of
(Short-anisygar R o " GConsumers ? How does it affect demand ?
Ansiver any foyr QUA ) _QUt?shons) 5 9. Was Demonitisation 'a wise ‘step taken by the
' uestions of the

H_Qwihé : ; Govemnment of India in 2016. Disc__us:i its pros

- x4 =20 and cons.

| k) e L L D EC A

Lhe B b e LT B2 o B’

A AN B e ey Wl

J0. Discuss the innovation theory of Profit. -

RW —28/3 (150) (5) MB —102 (New)
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Time : 3 hours
Full Marks : 70 -

Candidates are required to give their answers in
\thevir own words as far as practicable.

The figures in the margin indicate full marks.
Answer from all the Parts as directed.
(Statistical Methods for Decision Making)

| ‘Part—-A :
1. Selectthe correct answer of the fbllowing :
| e 2x10 = 20
(@) The main role in development of statistical
method is of ._

(i) Economists
(i) Scientists
(iii) Mathematicians

(iv) Businessman -

IK - 30/4 i (Tumover)



©) Medianis______ Q I
Uart _
(i) First _ e, . } (ili) Mean > Variance
(i) Second | ' ; (v) Mean < Variance -
(ili) Third h () The number of classes In any frequency
(iv) None Of.the " distributions depends upon :
se %
(©) Median of ] (i) " Sizeof the data set
) 'an o 5| ; ' : '
10, 12, 8, ang G-Will e (i) Size of the population
) 5 ! (iii) Range of observation
i) 6 (iv) Allofthese
(ii) 8 3 ’ (9) If quartile deviation of given setofd'até of 20
=" { observation is 12, then value of standard
) None of these 4l . deviationis:
(@) New hypothesis is denctag by : - i 16
0 H ‘ | (W) 12
(i) H, L ey 2B (i) 18
(iv) Noneofthese

(iv) NeitherHo nekHL . - (h) Which of the following relationship is true in
: " asymmetrical distribution ?
() Median-Q, = Q,—Median

(i) Median-Q, > Q,—Median

€) Ina Binomia| distribution :

() Mean= Variance

(ii) Mean—s ]
= Standard intin
IK - 30/4 Deatich (5) IK - 30/4 (3) (Tumover)
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(i) Median-Q, <Q, - Median

(iv) None of these

() Standard Deviation of the Blnomlal
dlstnbutlon is:

() np
(i) np
(ii)) npq
(V) npg

() What is the probability of getting an odd
number is tossing a dlce L

(|) 1/6
(i) 1/3
(i) 172

iv) 1

' ~ Part-B -
(Short-answer Type Questions)
Answer any four questions of the followlng X
5x4 =20

2.. Describe the Baye's theorem.

IK = 30/4 (4) . Contd.



3, EXpiainine anereiypes or st
ethoy

4, Whatis S. D. ? Derive the fonﬁulas ofS
D,

5. The marks obtained by six students g .
: ere g

16, 25, 30, 40. Find the ra
, 40, nge. If the Kigh.. .
‘Qhes
t

mark is omitted, find the 'percentage ch
an

vy gein
. 6. Whatare the featu . . .
res of a good ove,
rage ?
Part-c |
VIt 2
. (Long-answer Type Questions)
swe '
rany.three questions of the followj
. , , ing :
7. What 3 o
4 re the varioyg Measures =
kA e of Centraj
8. Caleula
te Mean an
_ d St
fonowmg b andard Deviation from the
X f
18 '
: 3 -
18
. i) 7 :
20
“ K~ 30/4 o
(5)

(Tumn over)

e

9.

X f
21. 14
22, 18
23 17
24 ’ 13
2% 8
26
27 4
Find out the Arithmetic Mean from the following
data: j
" ‘Marks Obtained  Number of Student
0-10 ’ 10
10-20 LRy -
©20-30 S -20
:30-40- 18
. 40-50 10

: _1'0. What is Statistics ? Discuss the importance of

Statistics in the Management-of a Business
Enterprise.

Contd.

IK - 30/4 (6)



11. Findthe Q, a
1 nd 03 from qj
given dat
a.

i f
2 7
) 9
7
25
9
22
16
18
18
1
24
8

—_——
/
0.0 ——

K~
K-30/4 (150) (7) : ’
MB — 103 (N)
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% Full ‘Marks 70

Candxdates are: nequmed to g/ve their answers in

' thelr own words as far as pmct/cable

Group -A

ect anSWer of the follow:ng
o 2x10=20

ata whic.h ‘tékes into account all
tﬁ'é-"_d cE
'(i).,-Med_ién':’ %

(i) Mean
. _ \
RW—29/5 ’ (Turn over)
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(iii) Mode

(][) 5/6
(i¥) Range : (itfy 5/36
) i fo (iv) 7/36
(b) Standard Deviation (S. by ;o K () ng the following Is the standard
; or 4. hamo )
obsenvations 1 and4:s (‘-Wo © \:/hlc'uon of Binomial distribution ?
' : evia AR’
M 1 et
. () +npa
(i) 1.5 .
= iy npa
e i s -
; '(w) hp
SRR | PRI 213 15 186, 17, 1\,.
S pens freqUency d'Si“Jh'i"On cbeff‘cién‘t'o-f'- TR The medlan Ofmed _
skawness = 0.6 mcan =172 and Mmode & - 20 'S, 7
162. The value of fha \,anq,we is - ' (). 8072 |
) 16¢ Ta A (n)Snlz
(i) 215 e sz
(iiy 1e5 Ko S S(v) 882

. , ' subtr‘cted from median
(il‘} ;’25 . : _(9) |l the frs{ quamle is :

then the answer mu st be equai to:

: (|) Third quartite mmus meduan
p [T qb fit

i Obtam’ng i t°f<=1 i 8 e (n) Thll‘d quarlile p!us median
G s

r . (Tumover)
RW~29/5 RW-—29!5_“ (3 )
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(i) First quartlle plus medlan
(iv) Mednan multiply third quamle

() If mis the mean of a Poisson dist'ribution,
. the standard deviation is.given by :
O dRh
(W e
(i) -m:
(lv) mlz |

(1) Contlnuousdlstnbution

(u) Dlscrete dlstnbuhon =
(un) Irregular dlstnbu’uon ik 9

(o) »Not £E probablllty d.stnbuuon, 3

R A statement whose vahdlty is tested on the

bass of a sample IS ca\led

-1(1) Nu\l hypothes]s

(n) Staustlcal hypbthesus

| (Iu)nSlrane'hypoihesis &
(V) Oomposue hypothems

.RW-—?.Q?J'.A (4) |

- Contd.
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Group - B
(Short-answer‘Type Quesr.ions)
Answer any fout questions of {he following :
' 5%4 = 20
g Define anthmetrc mean and median and dlSCUSS

the\r ments and dernents as measures -of central

tendency

-' .—-r "\"L \v:;,'-_"*.".

L B R n R

ﬁr The sum of 50 observatrons rs 500 rts sum of -
y squares |s 5 000 and medran 12 Frnd the

. coeffrcient of varratron and coeffrcrent of

SkeV\LnQSS-: R

.51 Descnbe the Baye S theorem

"-r F'] J"'\""

a company is Rs ‘l 600 The mean “monthly

w’ The mean }non’rhly sa\ary pard toall employee in-

5 sa\anes pard tc techmcal ‘and non-technlcal

emplcyees are Rs 1, 800 and Rs. 1,200

respectwely Determme the percentage of

technrca\ and nbn-technical ;iemployees of the

comp‘any b

RW — éél'é_: o (5) (Tum over)
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observations were worked out ag 40 and 5
fespectively by a computer which by mistake
took the value 50 in pla(:e 'of 40 for one o"f the ‘
observations. Find the correct il
variance,

Croup-cC

(Leng-answer Type Questions) . - .
Answer.

Calculate the medq"an..ar','d mbdé fot tha
distribution of the weights of 150 stuidents fron
thedatzgivenbelow: = - ;

- Veelght i kg). .
30-40°

."‘17'40.'- 50 -

60-70 . ‘2'7 4
70-80 g5

RW - e
L (6) - cont

' mean ang |i -

.

* 40. Explain any two 6

& Calculate c,oefficientv‘qf‘,yariation from the

following dtatarl K

Profits (Rs.crores) | No, of Cos
s 10*20 ¥ 8
20280 oo 2

¥ 304l 0 |

o A0 =50

B0-60

Défirié 4
characteristics and__.h ses: Under what condition,
it tends 16 Poisson distribution 2
fthe fo
() “Applicatiofi of

AT saarios)

. (&) Haronic idean

. (a) The probability that.a new marketing < = &

- apptoach will bé éii‘i:cé'é‘sfhi is 0.6. The
‘probability that the expenditure for

RW-20/5 (7) (Tum over)

inéiiial Distribtion..Point out s chief
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developing the approach can be kept within - g pYRIGHT RESERVED

the original budget is 0.50. The probab‘im‘y

that both of these ob}éctiVes will be échlovéd . ol 2020

al 0.30. . Al v |

' y % i | Time : 3 hours

) A bag contains 3 red, 6 white and 7 blue - - Full Marks : 70

balls. What is the probablhty that 2 ball =

drawn are .whrte and blue ? ) : f candxdates are requ:red to give their answers in

P : -theirown words as faras pract:cable
The figures in the margin indicate full marks.

Answerfmm all the: Groups as directed.

Group -A

(Objecﬂve Type Questlons)
(Compulsory)
owing :

2x10=20

Select ihe correct answer of the foll

" (a) The algebraic sum of the deviation from meat
is: -

() Maximum

(i) Minimum

(iii) Zero :

(iv) None of these

(il er-a73 (Tumover)




(b) Which of the following relat
symmet Onsh
rical distribution 9 i S

() Median-Q, =q s

= 3 —~ Meqija

(i) Median - Q>Q,-m edian
' ~ Median,

<Q : s

. 3 ~ Medi

(iv) None Offhese ) ,'an :

(iii) Median — Q,

© w
hat is the probabmty of ge
number is tossing a dxce ?- !

() /
i %
iy 4

ng an o4

(iv) 1

distribution is -

(')_ np
i hp
(iif) npq

(iv) \/m

ER-37/3

h ) Contd, |-

(e) Ina Binofnial distribution
() Mean = Variance -
- (i) Mean= Stéhdard Deviation (SD)
(i) Mean> Variance
(V) Mean < Varian'ce'
Median is the value of the variate :
cy distribution

(f)

(i) Which. divides the frequen
into two equal parts.
(i) Which divides the frequency dxstnbutlon

iinto four equal parts

(m) Which corrasponds to max™ frequency

(|v) None of these
@ In a Ponsson distribution *
(|) Mean = Variance
(n) Mean = Standard Deviation
(i) Mean > Variance
- (iv) Mean< Variance

ER-3713 (3) ; (Turn over)



Group — B

(Short-anéwer Type Questions)

Answer any four questions of the following
x4 = 20

The mean of m"arks ina ~subject of 100 students

of a class was 72. The mean marks of girls was

75,while theif numbers was 70. Find the mean

marks of boys in the class.

. Find the coefficient of skewnéss from the
following informations ©

 Difference oftwo quartle =8

| Sum of two quartile =22
Mode- | =1
Mean | =8

4. Déébribe the Ba"ye"s theorem.

5. 'Expléi‘n the Relationship among AM, Median ang
Mode.

6. Whatis S.D. ? Derive the formulas of S.D:

ER-;3713; ' (5) i (Turnover}



M) The relationship among AM, GM an
HMis :

() GM=(AM) x (Hu)
(i) (GM)? = (AM) x (HMm)
(iii) GM = (AM x Hwm)2

(V) (GM)? = (AM)? x (HM)2

() The number of classes in any freqhénq
distribution depends upon:

(i) Size of the data set
(i) Size of the population ~ -
(iii) Range of observation
(iv) All ofthese | , :
() If quartile deviation of given set of data of 20!
observation is 12, thén value of siandérd
deviation is : |
() 18
(i) 12
(i) 18

(iv) None of these

Contd.: - .

ER-37/3 (4)

Group-C :
. (Long-answer Type Questions) .
. uestions of the following :
 Answer any three qA s Sy

. calculate the AM.and Median of the following
7. Calou

data:- i

Weight(in GM) . No. of Articles .
0-10 . ; 14
10-20 ¢ 17
20-30 : 22
30-40 26
. 40-50 2
s0-60 - . - 18

8. Astudyof100 engineering-companies give the
following informations :

Profitin (Crore) - No. of Companies
.0-10 8
10-20 : ‘ 12
20-30 2
30-40 30
" 40-50 20
50-60 - 10

Calculate the standard deviations.

Contd.
ER-37/3 o (6)



9 What is Poisso
n Dnstnbutmn ?D
escnbe th

M.
G. F. of Poisson sttnbutron and Ad
Property of this distribution. d'“Ve
10. Explain any two of the following :
(@) Level of Significance
(d) Application of xz-test(Chi-square test) '.
(c) Analysis of Variance .

{d) Geometric Mean

1. @) If10m v :
€n, among whom ' :
are Aand B st :
nd -

in a row,
: what is the probabllﬂy that there will
exactly 3 men betweenAand B ?

(b Ab
ag contains 3 red, 6 whlte and 7 bl
ue -

balls. w
) hat is the probablhty that 2 balls
rawn are white and blye ?

e R

ER-37/3 ‘

,pyRIGHT RESERVED

MB — 104 (N)

2022
Time : 3 hours
Eull Marks : 70 -

dates are requ:red to give their answers in

Cand/
theirown words as faras practicable.

The figures in the margin indicate full marks.

Answerfromall the Parts as directed.

(Accounting and ‘Financial 'Analysis)
part-A '
the following :

4. Choose the correctanswer of
. 2x10=20

(@) Closing Stock given in the Trial Balance is

shownin:
(i) TradingAccount‘
(ii) Profit and Loss Account -

(ill) Balance Sheet

(v) Trading Accountand Balance Sheet

IK-31/3 (Tumover)



(b) Who invented the double éntry system of (u)‘ Memorandum Book
Book Keeping ? ;-

() William Pickles

(i)) Lucas Pacioli v e
i) J.R Batiboi

(iv) None of these gy | “cash?

: (i) Pur_vchase‘of Fixed Assets

(lii) Principal Book

() Noneofthese

() Which of the following is not the source of

(c) Common Size-statement are also known

as: - i | " ° (i) Funds from operation
() DynamicAnalysis - e (iii) Jssue of Debenture -
(i) HorizontalAnalysis . . | © 7 (v StateofFixedAssets

(iii) Vertical Analysis : ) o9
: ' ' " (@) Which one of the foilowing is not an

(iv) None ofthese A e
) Accounting Concept? -
(d) Operating Ratiois: | @ Woneymeasurementconcept

U B e e (ii) Dualaspect concept

(ii) Actiyity-Ratio e ~ L | o e b
(i) Solvency Ratio 2 5 o RN
i Raﬁ?»_ | a0 . ) OutstandingwagesaQCOUntisé;
kgt el i = .l(i) Natural Personal Account

i) SubsidiaryBook . -’ Nyl
(i) coi IK-31/3 (3) (Tumover)
IK-31/3 : (2) T




8. Discuss about diff

Statements.

8. Whatdo youtkean by'money | “ﬂden'nq?.

rules of praking journakentry in both approach 7

- Explain with suitable €xample,

IK=31/3 (150) '(6) . MB-— 104 (N)v o

20t types:of Finaﬁcial :

| (i) Artificial Personal Account
 (iii) Representative Personal Account
(iv) "MNominatAccount
() Materialsare issued at actﬁal cost:
() Under FIFO Method A
(i) Under LIFO Method
(iii) UnderFIFO and LIFO Method both
" (iv) Noneofihese ;
@ Goodwillis:
(i) ATangible Assets
* (i) Anintangible Assets
'(ii,i) ACurrentAssets
(N) None of these
Part-B
(.Sho‘rt-answer Type Questions) - .
" Answer any four questions of the following :
' | §x4 =20
2. Whatdoyou mean by Financial Accounting ?

K-31/3 (4) Contd.




3. Joumalize the following transaction in the bogkg
‘ of Himanshu for the month of October, 2020,

Particulars Rs.
Business Started with ca_sh 75,000
Goods Purchase for cash 10,000
Goods sold to Swati 5,000
Purchase fumniture 3,000
Cash ieceived from Swati in full _
setilement 4.000
Broughtgoods from Sunder on credit 20,000
PaidRent 1,000
Paid Salary ", ) 1500 -

4. Whatdo youmean by Double Entry System 7
5. Whatis Fund-Flow-Statement 2
5.  Whatis ForensicAccounting ?.

Part-¢
(Long-answer Type"Quasﬁons)
Answer any three questions of the following :
: o 10x3 =30
7. What are the needs and methods used for
valuation of assets ?

K- :
o (5) {Turn over)

Discuss about different types of Financial
g |

Statemantg.

4 What do you rnean by money laundering ?

0. i :

10. What are the kinds of accounts ? Whaf are the
‘ rules of makihg journal entry in both approach ?

" Explain with suitable example.

o,
L X4

MB — 104 (N)
IK=31/3 (150) (6)
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2021

Time : 3 hours

FuN-Marks - 70

Cand:dates are requrred to give their answers in

their own words as far as pracficable.
. The ﬁgures in#the margin md:,cate full marks.

Answer from all'the Patts as directed.
Part - A

1. Choose the correct answer from the given
altemnatives : ' ' 2x10 = 20
(@) “Debit what comes in, credit what goes out.”
This rule appliesto: '
0B 'Per_sonél'a'ccount_-_
(i) Real account
(i) Nomin‘a\ account
(iv) All of these

RW- 20/3 (Turn over)



-

(b) The entry made for each transac“o ny ¥ casﬁng ;
composed of two parts — one for gey,; itan (
another for credit. This accounting p”nc:p;h © Goodwﬂl is:
is : : (I) CurrentASset
() Historical Cost Principle. ' . (i) Fictitious Asset
@ Matching Principle I I, (m)' Tangible Asset
33e ., . . ) . A ) t
(iii) Duality Principle : ®) |ntan9'b‘e Asse éning gk
() Objectivity Principle - | Ba|ance shows the OpeTii
' As Tria
(c) The advantage of settmg accounting -0 "Rs. 20, 000, ltWIll be | ;
standards are ' Trading Acco!
() Debitedtothe. Account
() Reduction in variations itad to the Profit and Loss '
(iiy Debite + closing stock in

fi Dlsclosure beyond that re unredb law h
(ii) y q ‘ Y ! I Deducted fromt

-(iii) Facilitates comparison . galance Sheet
a
(iv) Allofthese e ; ) None of these : : s
H (v s aré
(d) The process of recording a transacnon in, the : Which of the following ‘method
: (@) Wi il ?

joumnal is called : the valuation of goodWlOd

i) Postin rofit meth

0 ¢ (0. “Supsr P . (Tumover)
(i) Journalising , (3)

RW-30/3 ;

RW-30/3 (2) Contd.




app\'\ca\‘\on of investigative and

(iil)
~ nalytical S

kills for the purpose of
reso\v'mg financials issues in a manner

{hat meets standards required by courts

of law.
'('w) The investigatory arm of the Securities

| and Exchange Commission.

() Know Your Customer (KYC) regu\atsons have
been m’troduced in financial transactions
under which of the following regulation ?
@) Banking Companies Act
(\\) Prevent\on of Money Laundering Act

(i) ReseNe Bank of \ndla Act

: (.N) “Companies Act

part—B
Answer:-any-four questions of the following :
| 5x4 = 20
(Turmn over)

RW —30/3 Ty RS

L 3



€ tOI'y met og
Measures most closely the nt'invento
() FIFo :
(i) Specific identificatioy,

(iii) Weighfed average
(iv) LiIFo

jiveine
b e and thrive
surv

Contd,

1

" Discuss.
nomic world.” Di
sfinanc i

d
i cepts an
three Accounting con

s any th

piscus

conventions.

\
I



-

What is the «
' Coung
hy is it hece | eriog
sy

tat‘:-‘lTrEnts 9 . Prepay o mp"on.
% N8 fina |
W ExPlain the m aneiﬁ

thods of

What
are
efa
v-, What dO y vaIUaﬁon f h
Mean L are 9
CCOUnhng., ‘ by ed Flag, L
Orensig

- joPRIGHT-RESERVED

sN\B — 104 (New)

2020
Time +3:hours-
" LFull Marks .70

Candrdates are requrred to glve ‘their answers in
therrown words asfaras practicable.

The f‘ gUres inthe margm mdtcate full marks.

Answerfmm all the Parts as directed.

: Part A

I Choose the correct answer from the given
2x10=20

Disﬁnguish betw,
een

REVE
n
ue EXpendIture

RW_3q,3

Capj .
pita| Expenditure and

(6)
Contd,

' a\tematwes
(a) What 1s Customer Value ?
(\) Rat\o between the Customer's
; Percewed Benefits and Resources
o used to obtain these Benents

(\\) Excess of satxsfactron over expectation

(m) Post: Purchase dissonance

(\v) None of ﬂhese_

EP&:" 283 (Turn over)




(b) The cost of Capital meth
() Dividenq yielq meth, = 'nc’u 5
(ii) Eaming yield meth i
(iii) Divideng yield =
method o
(v) Allof these »
© Ifthe

Wth ; '
G In divide”U

“Contd.

Analysus isto, present

re of Fmanclal
ﬂnanmal statements

@) Featur
tne data contavln“ed in

in: e .
0! Easyfonn
(i) Convement and rational groups

(iii) Comparable tonn

(IV) All of thes‘m

® _Whlch Analysm is con51dered‘ as .Staﬁc ?

() Horizontal Analysis -
(i) Vert:calAnalysns g
(iii) |ntema|Analysns 4

(iv) External Analysis -

(g) ‘Which Analysis is considered as pynamic ?
(l) Honzontal ‘
(u), Vertlcal :
(ily Intemal
) External ,
®) Wwhen did the prevention’ of Money
Laundering Act came into force' ?

() 1%t April, 2009

ER —vaala (3) (Tumover)



- Part—-B

(qwer any four questions of the following :

A

AU 5%4 = 20
o Whatarethe Jaiiotis tools of Financial Analysis
Accounting Ratios 2= o

-3, Differentiate between Traditional and Moderm

. Account'\n_g.

4 Draw.a samp\e structure. of Profit and Loss

Account fora Restaurant

5. '\N_ha_t do-yo.u r_ne-an by Red Flag in Forensic
- Accounting ? |

atio for Neeta. Enterprizes is1:1and

6 Current ra
' CS. Flnd ite

having workmg capital of Rs- 60 La

a\ue of the current assefs 7

Part C

- pnswer any three questions of the following :
‘ 10x3 = 3T

7. What are the nee.ds and methods used for
valuation of a_ssets ?

ER —38/3 (5) (Turnover}




meaning'and significance of

s

' 1g. Discuss about
; accounting,_ratios. _
o \What do you mean by Money
uggest prevenivgagpaRYRso be ke
bout differéntdypes of Financial -

Laundering 2

40. Discuss @

Fmanc:a] Rafic? i ly,ng 4
' f )
o b Meq Statements. :
£ N Bitelrie
Inswslzs” ;
. e pad yd ABe
55 T LERUST L
- ¢ piezes Inov .
LR
¢ gt

ER~38/3 (150) (63y MB—1 04 (New):
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COPYRIGHT RESERVED MB — 105 (N)

2022
Time : 3 hours
Full Marks : 70 .

Candidates are required to give ltheir answersin
their own words as far as practicable. -

The fi gures in the margin mdrcate full marks

Answer from all the Paﬂs as d:rected

3 : - (Marketing Mapagement)
Part-A

1 1. Selectthe correct answer of the fblloWing.:
| 2x10 =20

(a) Marketing is a process which aims at

() Producon (i) Profitmaking:
(iii) Satlsfactlon (iv) Selling

(b) Which of the following is not a type of -
marketing concept ? -

() The production concepts |

IK-32/3 . (Tumover) .




(i) The selling concepts
(iii) The societal rﬁarketing Concepts
- (v) The supptierconcepts
(c) Marketing is known by
0 Biacs (i) Area
{iii) Demand

C)] Whlch one is the part of Place-nix ?
(l) Brand

(m) ‘Publicity; (V) Retailers

(e) Whnch one s not the part of product mix 7

() Style
(iii) Package

(ii) Colour
(iv) Advertising

(f)
Which onej is the micro envuronment element 5

.of market 2

; :
t), Demography (ii) Competition

iy (iv). Product
d
€a of Four p'g marketing was givenby:
() Jerome McCarthy

- (i) John McCarthy
IK~3273 |

(i) Economy

(2) Contd.

() Al ofthese ; f'

(i) BasicPricg: '

M)

[0)

0

IK-32/3 : (3)

 (iii) Shorlekar

(liiy Thomas McCarthy

(iv) Noneofthese

“The productis a bundle of satisfaction that
aconsumer buys” told by :

(@ 4Phi|>ip Kotler (i) Peter Drucker
(iv) Noneofthem
Who is called the Father of Modern
Marketing ?

(i) Philip Kotler:
(ili) Kevinson

(i) Neil H. Borden

(iv) Williamson

: Concept of Marketlng Mix is given by :
. (i) -Philip Kotler

(i) NeilH. Borden

(iii) Wltlamson (iv) -None of them

_ . Part-B
(Short-answer Type Questions)

2. Answer any four questlons of the following :

5x4=20 -

\(a/ What do you understand by marketing ?

Explain its |mportance

\(h)/Dlscuss about various components of

*.product mix.

(Tumover)



> (¢) -Discuss the concept of
I What do You meg
Segmentation ? |

positioning
n

Jey i ‘
Explam five s@eps buyer decis;j
. : 10N fi

i Pat-c = -
Lon . . ‘
A Answerag-answer Type Questions)
. ny three questions of the fo||
® following

) W i X o A ess.
{ Cl

distribution channels.

- {9r Whatare 1
\}) g rePthe various stages of Pr'bddct Lfe - - ”
(PLC) ? Discuss the changiﬁg.‘

i h
rketing decision on each stage

) Explain ) |
t p wiror ;
: he concept of marketing environ- : - 4

ment, piscuss their
decision.

\ 3
£

1K-32/3 (4 50) (4)

X -1 1cOPYRIG

Orcess

10x3=3g

USS various :

WTRESERVED  MB—105 (Nev)

2021
“. Time : 3 hours

oy _.f‘fF,uH Maﬂ‘s :70

q Candidates are required to give their answers in

el i -thgif'qwri Wd’d#"ésféfaé practicable.

“The figures in the margin indicate full marke.

Answser from all the Parts as directed.

Part—A

S and types of different .

Jimpact on marketi'ng’: ; ‘

MB — 1(j5 N)

'§e_\_‘e‘ct vt\he'-vopngct-ghswer of the following :
Pl - 2x10=20

a)l(\heh\storyof marketing, when did the
i pmductxon period-'en:d ]

515 (a)QlU'iHe late 1800
() fthecaty 1900 -
L Gy Inthe 19208
(4 None f these

_RW=313 (Tumover)



(b) Which among the followmg i
Marketing-mix ? o Ot

(i} Product

(i) Price .
-(iii) Target market @ '
(iv) Promotion _ .

c
(©) Which of the foHowmg is f
maketing ? eatu

(i) Needs ang wants

(i) Creating a market'offen'ng @

(iii) Customer value

. (v) All of these

{d)
—— isthe father of modem maketi
ng.

) Philip Kotjer
(¥

(ii) Abraham Maslow |
(iii) Peter Drucker
(V) None of them

RW-31/3

(2
: ) Contd.

re of the

A?'_‘-orl

RW-3113 -63)

(e) Inthe modem eras marketing is @ process
which aims at ?.
@ . Production:
(ii): Profit making: -
Ak (iii)'-'sati‘s'féction of customer needs
(iv). Selling, ‘products
® The first step of consumer buymg decision
process is:
. 0] lnfonﬁation seqrch
i+ (i) Option é_valuaﬁon
(i) Need récognition
>(iv) 'Purchas'e decision -
(g) The stage, of product life cycle, where a

company tries to bulid awareness about the

‘product :
() Marketing stage @
(i) Introduétuc\ibn stag
(Tumover)



(i‘ﬂ') Growth stage
(iv) None of these '-
) A subset of the market that aims at
. satisfying specific market need price range,
| producti_on', quality and customer.. is known
as: .
808 Niche market
(i) Harvest market.
(i) Direct'markéir |
~(iv) None of these .

(|) The ‘concept of sphmng the market -

mtragroups that have similar charactensums
is known as : | |
(i) Targetting

(i) Se‘gméhtation- Ed

" (iii) Either (i).or (i)
~ (iv) Noneof these . -

RW-31/3 (4) “Contd.



() A strategic proc

bt re.g:c process that. envolves
n identity of the brand or produyct Creatin
with

‘ta
rget customers mind : in the

() Segmentation

(i) Targeting g(o
(iii) Posiﬁoning (BOA
(v) None of these ’qu |
Answer . .
any four questions of the foll ’% (D |
owing :
A8 What do you und g
€0y ers »
b - Proposition and ysp ? tand S
) Explain ’ '
th
Wrmh € concept of market; A
By Suitable example, ket
Explain '
the fac ‘
t
dewm,inaﬁon‘ ors. affecting price

<4) Expta
in the ‘
iy H concept of personal selling :
€ concept |
K Pt of digitalizatio
S ion
cu lza‘ N in new liberajiseq eco 'mand
RW-31/3 -
(5)

(Tumover)

B o pat=C. .

.3, -Answer any thr_'ee questions of the following ©
: ‘oo .40x3=30

, (a) "What are the vario
oyde?

(biﬁ ‘Dis;:p,ss ma

steées of evoluation.

at do y&u understand by
s of. marketing

rketing concept and its various

_,(G).' Wh macro and
5 »‘*'imicro,-‘, component ;
- Lvironment 7 Also, discuss theirimpacton
" marketing decisions-
(@) ‘Di'st;ﬁéis'fthe nature, function
s disﬁbuﬁbr{ channels. -

and types of

.

> K/
—_’-__-. - 0'0 ——

© RW-31/3 (150) (6) _MB-—105.(New)

us stages of product life |

4
i
i
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- oPYRIGHT RESERVED MB — 106 (N)

2022
Tinie ! 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable,

The figures in the margin indicate full marks.

Answer from all the Parts as directed.

{(Human Resource Managemeht)
ety Part-A |
Select the correct answer of {hé’fblloMng ]
| 2x10=20.

-t

(a) Tréining is a process of : |
(). Shortterm . (i) Long-term
(i) Onetime . - (iv) Noneofthese

AT T R R -~

(b) Which one of the following is a method of
Training?

(i) -Intership
(i) Job Rotation
IK -33/3 (Turn over)

st ST T I T A S TN T S TR i




(iii) Apprenticeship
™) Allofthegg °
© “Interview js amet

ho .
0 Transfey - dused

€arch
em in
Jobis Ulating th,
® Selection ‘
(iii) Ingy
cti :
(®) Alearn;. (V) Orig
learnlng activity whic Nentatiop,
ure n i i
B Ed :eds her than Prese
Catio
(ui)_‘ Devey ) (ii) Instryct; on
® (iv
€ Process of ) None of thes

(i) SelecﬁOn

( (") Recruitment
9 A Statemg

(iV) Oﬁentab'o"

Nece, of hum .
: Jssa o oajobis?r? Qualifications
desnw .. - "
IK~33/3 SSCription

(2)
Contd,

00sing the i :
own as ; r'9ht person for

(i) Job analysis _
(ili) Job specification
(iv) None ofthese -
D) Which of the following is not a exter'na_l
' sourcesof recruitment ?
@ " Campus selection (ii') Promotion
(iiy Consutancy  (iv) Walk-in
(i) The formal and systematic modification of
behaviour through learning is termed as :
(i) Training (i) Education
(iii) Instruction (iv) Motivation

) TheHumanResource Planning isbased on :
(i) Financial Condition
(i) Market Condition
(iii) Extemnal Environment
(iv) Organisational Plan

Part-B
(Short-answer Type Questions)
2. Answerany four questions of the following :

_ 5%4 =20

A3) Differentiate between Traning and Develop-
' ment. : '
1K—33/3

(3)
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(b) The procedure js which relevant in‘fomaﬁ

rélating to ajob an

Systematically discovereq and noteqy is -

(i) Job analysis
(i) Job Specification
(iii) - Job Classification

(v) Job €valuation R
©) The procedure of fitting the rigng person int,
the right job s classiﬁc-;fd as:

0] lntervieWing applicants ] -
(i) Maintaining records b T
(iii) Administen'ng test

(iv) Placement of €Mmployees

(d) Evaluaﬁon of trainin

9 helps in determine the

d its requirementsl

On
§

im of job
- ¢ Theaimo
T

' {anning
an Resource P 3

.. - o
iiy Hu . Ko
( Human Capital Ma e
i n
(!li? yman-Resourceé Ma f
T deéign is to impro
@) "Job interview: |

(i)) Job satisfaction

l .

(-iii) _Job analysis

file
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@ Any learning activity, Which ig directeg
e

towards future nNeeds rathe, than Present
needs : .

() Training

() Education
(1ii) lnstmction. -
(iv) Development

(h) Tﬁe HR Audit‘is the process to evaluate the
Performafnce_bf :
() Organisation’
(i) HR Policy
'('li'l) Existing human resource
(iv) None of theée '
(i) Whichis notan advantage of interval source
of recruitment ?

(i) Time saving

(“) New blood

Contd.
RW — 3213 (#)



(iii) Less expensive
(v) Familiarity with own employees,
@ The content of job description involves :
() Job tittle, Condition of work
(i) Ed.ucational qualification, Skills
(iii) Both () and (ji)
(v) None of these
Part-pB

Answer any four Questions of the following &

is calleg a positj
Process 7 : Positive

Source of Competitiyea advantage ?
! Rw—3275

(5)
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Time : 3 hours
| Full Marks : 70
Candid&glf‘c?g are reqmréd to ;cjivé their answers in
i the;r own words as far as practicable.
The figures in the margin indicate full marks.

Answerfrom all the Parts as directed.

Part—A

1. - Selectthe comrect answer of the foliowing :
| x40 =20

(a). T'he‘Human Resource Planning (HRP) is
based on: .
() Market Condition
(i) Financial Condition
(i) Extemal Environment
(iv) Organisational Plan

(b) The formal and systemat
. behaviour through learning 18 term

(i) Training (i) Education
(iif) Instruction (iv) Motivation

ic modiﬁcation of
ed as -
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N

(© :mz;:;;isaof sgarching for prospecy;,,. !
b nd stimulating them to af;:;t ’fve )
(fn Selection (i)) Recry; ‘ or;
if) Induction (iv) Orient:;;im

()

(iii) Developmen

(&) The process of (V) None .df‘ihes' :
fight jobs is kn choosing the right e B
Wn as : rson for |

() Selection

0

(V) Orientation

0

(ii) Induction

. (iil) Introduction

(iv) Fresher Welcome

.Resistance frprh efnpioyee 5

to HRP. | A

() Objective
(iii) Scppeb
A statement of human qualifications

(i) Advantage
() Disadvantage

. necessary todoa jobis:

(i) -Job De_spripti'on

. (ii) Job Analysis . .

(iii) Job Specification

(iv)- None of these'

Which of the following is not a
source of recruitment ?

@) Cafnpus Se|ctioq(ii) Promotion

n external

() Non ank :
(6} Ontry i) Consultancy - () Walkin
i e of j ' ‘ . ;
err:;:?duc @ to the 2 8 Mployeq e B
s . 2 : ‘
0 OYees. Th e Pany ang Othare 2. Answer any four questions of the following *
Training SSiscaleg: o e 5x4 =20
ER. g ; : ,
P ‘ (a) Why ‘Selection’ is called a negative
2) process ?
Contq T
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(b) Discuss the importance of HR Audit.
What do you understand by HRM ethics ?
(@) State the functions of‘HUman Resource

~ Management.
(¢) Whatare the benefits of Human Resource

- Management ?
Part C '-

8. Answer any three questlons of the followmg

10x3 = 30 -

(a) Discuss the 'terms Training and ’_ :

Development State the objectives of training-

programmes.

(b) "Whatis Job' desrgn ? Explaln the process of' -

~ job desrgn

(c) What is thHe meanrng and purpose of‘
placement ? Discuss the barriers/problems

in placement |
(d) Discuss the ethlcal lssues in Human
Resource Management '\\
— %.
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